000000 000 A000000-a0-a00000000-4a00-A0000

00 00 0000000 0000t f0ooooo dotooo oo bodoooo 0oto 0ooodooo Doooooo 0ot doooooot 0o 0ooooa
0000000 DOO0O0O OOO0O0OO Ood.

00000000 000000 * |- aisbas) asasdl * -[ ¥
0000000 00000 * | |
000000 000 * | |

00000000 000000 000000 0000 000) 0000000 000) |

000000000 *
000000 0oa
00000 0000 000 0o booooo o000 0o

Math question* 1 + 1 = |:|
Solve this simple math problem and enter the result. E.g. for 143, enter 4.

)l



https://www.ltrc.gov.jo/?q=ar/node/227

